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QUESTION 1

A company is using SRDF/AR Multi-Hop as a disaster recovery solution. Their primary application requires 27.3 TB on
their primary site. How much storage capacity is required on the third site? 

A. Only 27.3 TB 

B. 27.3 to 54.6 TB 

C. Only 54.6 TB 

D. Greater than 54.6 TB 

Correct Answer: C 

 

QUESTION 2

On a VMAX3 array, for which type of workload does FlashBoost help in optimizing performance? 

A. Sequential Reads 

B. Sequential Writes 

C. Random Writes 

D. Random Reads 

Correct Answer: D 

 

QUESTION 3

Alerts are required to track high I/O response times for a specific storage group. I/O response times greater than 15 ms
require next day analysis. I/O response times greater than 20 ms require immediate intervention. 

Which alert settings are required? 

A. 1st level

Correct Answer: A 

 

 

QUESTION 4

What is the best practice for FA utilization in a VMAX3 array? 

A. 50% busy with two engines 
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B. 50% busy with more than two engines 

C. 50% busy with one engine 

D. 50% busy with two or more engines 

Correct Answer: A 

 

QUESTION 5

A server is hosting an online application and is experiencing performance issues. Which component of the architectural
layer has the lowest probability of impacting performance? 

A. Operating System 

B. Server 

C. Application 

D. Disk 

Correct Answer: A 
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